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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Answer any three questions from Part-A, and any two question from Part-B.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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PART A
AW &

1. (i) Seema has pocket money of Rs. 120. She consumes 5 units of pizza and 10
bottles of coke from pizza hut. The price of coke is half that of Pizza. The
pizza hut just announced a special deal. All pizzas after the first one would
be priced half of the original price.

(a) Write down her original and new budget constraints. Draw a neatly
labeled diagram for the same. What are the slopes of the two budget

constraints?
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(b) Assuming that Seema consumes pizza and coke in fixed proportion as
given above, calculate the new bundle Seema will choose when faced

with the new budget constraint. Explain with a diagram.

(i) Naina's utility function is U(x,y) = max{x, 2y}. Draw a representative

Indifference Curve and label axis clearly. Does Naina have convex
preferences? Give reason for your answer.

(i) Nandu’s utility function is given U (x,y)=xy. Anu’s utility function is

U _(x,y)=100xy. Ena's utility function is U (x,y) = XT+1 .Which of these

persons have the same preferences as Nandu’s? Justify your answer. (7+4+4)

(i) 4 = v 120 ® 9" @ 31 97 fIeen ¢ A 5 AW fisew IR 10 AAA HF T

ITHRT R B i I v & e @ e 21 fisen v ¥ v R 9@

(3=r) =% viwon 2 W Wk B AGER WeS gR YEAT fITH |l ® 98 UEE w0
Ay ot fiven I T A gET A M " R® Ry e

(%) oD 9@ vF T4 Toie wheel = fofaw o g gemefm g0 3 dww
fr T sRE GRe AR Twe v o wauew T #7

(@) wra g7 B G Risen sk i &1 IiE Ry e Fag sqae 3 swim
TR B, IR AR A Y wote gl w1 amAn g SR W e
A & T FAEN A W T TY AR

(i) = IT@R B U(x,y) = max{x, 2y} &1 ¥R Sediea a% (representative

Indifference Curve) ®RR w&@ 3T (axis) R TAL &Y A AG TN F1 A1 it
TaaR ITA (convex) Tl HRYT T §Y IR SRII

(iii) - @ ITARET ®we (utility function) Un(x,y)=xy fear v 31 g = SvEfia

wer (utility function) U (x,y)=100xy 21 S =1 I %ot (utility function)

U (x,y) =?;,1+—1%| T ¥ A A 9 admad g B e ¥ F I W
st e @ifm '
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2. (1) Anperson's utility function is of the form U(x,y) = 5xy. The prices of good
x and y are p_ = Rs.4 and p, = Rs.2, respectively. The person's income is
Rs.1200.

(a) Work out the optimum consumption bundle.

(b) Determine the person’s income offer curve (IOC). Draw a representative
I0C

(c) Explain whether each of the two goods is normal or inferior.
(d) Derive and draw the Engel curve for x.

(i) Motu raises eggplant and tomatoes in his vegetable garden. He consumes
some of these vegetables and he sells some in the market. For Motu,
Eggplants and tomatoes are perfect complements consumed in the ratio of
1:1. One week his garden yielded 30 pounds of eggplant and 10 pounds of
tomatoes. At that time the price of each vegetable was Rs 5 per pound.

(a) What is the monetary value of Motu's endowment of vegetables?
(b) What will be his consumption of eggplant and tomatoes?

(c) Suppose the price of tomatoes rises to Rs. 15 a pound, while the price
of eggplant stays at Rs. 5 a pound. What will be his value of endowment

now? How much will be his consumption now? (8+7)

(i) v= =i & IR we (utility function) T & U(x,y) = Sxy 81 x 3 y aegait
FIEFA p, = 4T p =2 & T AR AN AT 1200 T

(%) Tqn I S5 A FT

(@) =fm =1 s ww@ &% (I0C) fFuiRa Fifsm skt s vw@ o
(10C) &Rl

(31) =mEn DR B A X A AT W e W FR A
(a) x& fo ¥ % (Engel gurve) FI~ HIfY va |l

(i) g A T D T A T 3R TR I 31 98 T A | G B ITRA
A1 8 T [o W AWK X I ) A D g, I 0F e v @ D adds
& ¢ 2 98 11 & F0F A IN = B T qE IE@ T X 30 TS
T vE 10 TSE T FA1 IW TN AT wR H OAF 5 T W ST
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(1) @ AR B TR 1 I T 15 T Ui ISt B W 8, Sl SO
T 5 T AN WIS A T Al 21 IS GRS N Aeq AT F BN I
Jat IeT fra B smean?

Anya and Manya work in a restaurant. Anya gets Rs. 4 an hour for the first
40 hours that she works and Rs. 6 an hour for the every hour beyond 40
hours a week. Manya gets Rs. 5 an hour no matter how many hours she
works. Each has 80 hours a week to allocate between work and leisure.
Each has a utility function U= cr, where ¢ is consumption and r is leisure.
Each can choose the number of hours to work.

(a) How many hours will Manya choose to work?

(b) Find out the value of r and c at the point of kink in Anya's budéet line.
(c) What would be the slope of two segments of Anya's budget line?
(d) Will Anya work overtime? If yes, calculate her choice of ¢ and r.

Twenty years ago, Tara spent all her income on the purchase of 11 loaves
of bread and 12 sacks of potatoes. Cost of bread was Rs.10 per loaf and
cost of potatoes was Rs. 13 per sack. Today she has an income of Rs. 510.
Bread now costs her Rs.20 a loaf and potatoes cost him Rs.20 per sack.
Assuming her preferences haven't changed, when was she better off? Explain.

(10+5)
R AR A O & A T GA | UES 40 6 D Fre s 4 © Wi u
WifiE W gan @ vd W awE 40 W2 A St wm Y @ R TRe 1 @
T 6 T 9t 52 &t W A Wl W Bt 21 AR A 5 % AR W W = QA
e W Bl @ AR a9 R O W @ aRat B TS @ Wi 9w
3k fasm g 80 w2 Jfea fre sy &1 wAw w1 SwAfEr wo (utility function)
U=cr?, W& ¢ I999 @& r Romr 21 9 ¥ ¥ vds a9t oW 2 9ol 98 g
T IR B o

() o= fFaer 4@ W A T 99T HEN?
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(ii)

(in)

(iii)

5
(@) s = wore @A (budget line) ¥ fe fig (point of kink) W r 3R ¢ &
A A A

(1) 3= W qAT AET (budget line) H A WS N YU FAT BN

(9) T S SARCTEH FH FER? AL B, A IqD ¢ I r D TAT WeporA
QIS

o AW OE, 9 A A T S 1 G UE A D 12 9R @ W o 9
Q1 IS A AR 10 T W IR TE e S A 13 € AR Q) A s SEe
@ 510 T B FT IqD forg TR AN ARE 20 T AR TR ¢ 3] N FRE 20
T Wi A TR 21 7 e Y O JuE algeat § i wRadw w8 s 2, Sad
fog dew wRtafddt e A7 = FHikm

Suppose Puneet's indifference curve is given by %\/PW + %\/E =C, where

C is constant. Puneet receives P_ = 169, amount in Rupees if he wins a
tournament and P, = 49 if he loses. If the probability of a win is 4/5

(a) What is his expected profit?
(b) What is the certainty equivalent of this risky bundle?
(c) What is the risk premium?

What is the difference between hedging and diversification? Briefly explain
how each can be used to mitigate risk.

“If both current and future are normal goods, an increase in the interest rate
will necessarily make a saver save more”. Do you agree? Explain your answer.
(5+5+5)

T o gl =1 Iediean 9 (indifference curve) %\/E+%\/E=C | faar
Wi €, el C R 21 T afe gt e @ @ P = 169 & o wE Al
BRAT 8 W P, =49 T ooy W Fwa 31 Al Sew A Wi 4/5 3, @

(=) o nfea & = 27

(@) 3@ St §sa (risky bundle &1 Fif¥aaar wgeq @ 27
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(i) 2RI (hedging) 3R fafddawo (diversification) & € @ sieR 27 @aq A
Ty fh iRk &t 9 = @ fow wQ@E @1 I DR BFar s gear 27

(iii) “3R a9 w@ iR Wfss O T TGE (normal good) B, & =t = X ofy
R saowdl 1 ARTE w9 F AR FE w99 FE an ORI A9 gEhd
7 O I A IR FiRw|

PART B
ARl A

5 (1) A firm has the production function q = f(k,1) = kl where k is the amount of
capital and 1 is the amount of labour it uses as inputs. The cost per unit of

capital is v and the cost per unit labour is w. Determine the conditional
labour demand function 1€ (q,w.v).

(i) A manufacturing firm uses only capital (k) and labour (1) to produce its
product, using a production function: q = 10kl. It pays its worker Rs.15 per
hour and has a rental cost of capital of Rs.5 per hour. If the firm wants to
produce 480 units of output, what is the optimal bundle of inputs (1*,k*) it
should use to minimize its cost of production?

(i) What is the relationship between short-run and long-run cost curves? Explain
using appropriate diagram. (5+5+5)
(i) v o o I o q = flk,)) =k 2, el k G R 2 v | 50 7@ e
F T F AR AR A o w2 gl o wi g A v 2 v Ry

HH T AN w B GO 9 AT G (conditional labour demand function), I°
(q,w.v) FaiRa =iRkm

(ii) v ffmin ol o S = IR w B RY IWR_T B g = 10k W

I T, Dad G (k) IR s ([) w1 I9ET FRA R TE 9 T A 9y

U 15 T T WA Il 2 T Tae o o Reom o s © Wiy wer 31 AR wd

- SITYC FT 480 THIFA N IWET FE WeA B, N AF I A R wH
& ® e TR (1%, k%) D Rew 3w s w1 S9N SR TiRe?
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(iii) ety sk Sefafr ar T @ 9w dEy 7 JugEd IRG I AW

(i)

qHATIVN

1
A firm produces output using the technology, q = Mkl "2 where capital,

k, 1s measured in machine-hours, labor, /, is measured in person-hours, and

q denotes the output. The hourly wage rate w = 10, and the hourly rental
rate of capital is v = 20.

(a) Show that this technology displays increasing returns to scale.
(b) Compute the marginal products of labor and capital.

(¢) Assuming k = 1,000 machine hours, derive the firm's short run cost
function.

(d) What is the firm's short run marginal cost function? What is the firm's
short run average cost function? At which point do these two curves
intersect?

What do you mean by elasticity of substitution? Give examples of production
functions with elasticity of substitution being zero and infinity. Also draw
graphs of these functions. (10+5)

Wﬁmsﬁﬁrﬁa&q=ﬁkl”z,waﬂmw FITYE T IS HE 8,

el Youl, k, o1 A9 AMT-9e (machine-hours) ¥, %™ (labor) I &1 WG =afg - ¢
¥ o v @ ¢d ¢ SeYe W Araw B AR Her Aoigd 9 Ww =10, TS Ton 9t
wfy et fFm &t | v =20 2

() weffa it & a7 N T w3 § Tod wwal B w=wifla & 21
(@) = 3R T D T PEEA F IR HI

(W) k = 1,000 5= B2 A=A §Y, T N TG A TG ARG Beld e
TR

(a)ﬁmagmwmmwwé?ﬁ%agmwwaﬁm
T Fe 27 A 3 T B g W v TR e 37
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(i) SRREET A AT A T W T B AR @ A T U 3 A 8

(i)

IR e @ IV NP1 T He D eE (Tw) o @R

The production function for a firm is given by q = \/t where q denotes

output and k denotes units of capital input. The firm is a price taker and
capital can be hired at the rental v per unit,

(a) What is the total cost function of the firm?

(b) What is the profit function of the firm?

(c) What is the supply function of the firm?

(d) What is this firm's demand for capital function?

“The assumption of declining marginal productivities for each input is sufficient
to explain the cause for diminishing rate of technical substitution along an
isoquant”. Comment on this Statement. (10+5)

&l w1 @ IR v W g = f; T Ran v B, WET, Seye @ A @
@ kIO T A T o i 21 W Ao Y 9 2 U v Wi g R
R ot # e w forn s @ 2,

(F) w = FF A BT B ?
(@) & &1 ™ o T ? 7
(1) w3 = A el T 27

(9) Toft worT & fow 58 W o W o 27

(ii) “mw%m,aﬁﬁuﬁwa&w?%maﬁwaﬂ%%m

AT YT D oy Qg Seareerar e & JPvER waiE 271 28wy w RPae
e

(400)
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